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@—x5y4 @ —xy® ® x%°

@ xy°

@ —xhys

xy(=xy)® = 2y(=x’y%) = -2y




D)72a" x® @ -72a"x8 @ 72a'2x12

@ —-72a'2x"2 ® 48a8x"

(2ax?)3 x (=3a®x)? = 8a3x® x 9a*x? = 72a"x8




4. oA f(x)E 232+ 3x+ 22 HRIEY Fxol 3x—40]a, 2|7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0




x o e thdAl A = 2% + 5x% + 4 B ThFA] B & U o, Fol
Al B 9

2x+ 1 012, Y47} —6x + 2 o]t o] of, thghA]
@x2+2x+2 @ ¥ +x+2 ® ¥ —x+2
@ x2—9x+2 ® x> -3x+2

B |
A=B(2x+1) - 6x+2 oA
B(2x+1) = 2x° + 5x% + 6x + 2
©B=(26° +522 +6x+2)+ (2x+1)
=x2+2x+2




(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




4] (522 + 3x + 1) NGRS o, 2 ] A?

® 10 @ 13 ® 16 @19 ® 25

B

(5x% + 3x + 1)(5x% + 3x + 1) A

i ) (%17‘(]—3(}) (Ei]—ﬁo]-) —/] O“(l)— 9x>
i) (olxFah)x (/;.]'—/,\— H) 9] 749 2 x 5x?
= 5x2 4+ 5x2 + 9x2 = 19x2

© 19




8. (P +ax+2)(x+bx+2)EANMAS W, 2 B3 AFE RF0
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




a, b= 8O1AL, ax® + bx* 410 x* —x - 12 Hro] Bojd off, b

o gre?

@2 o1 00 @ 1 ® 2

B ~
AN ol pio) 2 mArelat Afarel Zotof o
ax® +bx* +1
=((x2-x-1)(ax-1)
=ax-(1+a)x*+ (1-a)x+1
o] A4S viLet
—(l4+a)=b1-a=0

a=1,b=-2




10.

x4+ 4x3 = 2x% + ax + b7} o|AHA 9] A FA] o] H of,
29

®a=12,b=9
® a=12, b=-9

® a=9,b=12

B

4 -2x2 tax+b=(x>+px+q?o2 FOH
o) 4] Sme

xt+2x%(px + q) + (px + q)?

= x* + 2px3 + (p? + 29)x* + 2pgx + ¢?

T} Al 4E B wsHH

2p =4, p?> +2¢ = -2

p=2q= -3 9] A

a=2pg=-12,b=¢*=9




11. 2 % O
o5 5 oFdA] xt - 8x2 - 99] QI4=7} ofd ZA22

@ —
x—=3 @ x+3
@ x*+1 @x2+9

® B+3x24+x+3




12. F oA 22 —dx+3a+ b} 22 + bx— 69 HJgoFrrb x -2 of,
a+ b2 327

D1 @2 ® 3 @ 4 ® 8

f(x) =x*-4x+3a+b,

g(x) = x* + bx - 6°]2}t 5t

f(x) 9 g(x) & BF x- 22 YrojHojz Bz
f(2) = g(2) =0°1A4
f(2)=4-8+3a+b=0,82)=44+2b-6=0
La=1,b=1.. a+b=2




13. F o34 x2 +ax + b, x* + 3bx + 2a 2] HHFFF7F x -1 o,
a+ b9 g& F-5tH?

@ 2 @ 1 ® 0 @—1 ©® -2

S5 ~
A gotsrt x- 10122

2 +ax+ b2t x?+3bx+2a=

R 12 o] WojAof g,
14+a+b=0°211+3b+2a=0

o2k, a=-2, b=1

La+b=-




14.

Al 7Rl tFd A w3 +ax+b, X +cex? +a, ex® +bx+4, 9 F

Sh7b x - 19 ®, a+ b+ ¢ 9] 27

fx)=x*+ax+b—> f1)=1+a+b=0--Q
gx)=x3+cx*+a— gl)=1+c+a=0--©
h(x) =cx®*+bx+4—> h(l)=c+b+4=0--©
QD+O+ONH 2(a+b+c)+6=0
La+b+c=-3




15. O34 f(x)E x-32=2 Y+3ES o] 5o] 0
T Q(x)E x- 2% Wr3lS We] Y7} -2
L ghe mhe] Lol A8 ohE?

D1 @ 2 @3 @ 4

O(x

),
Ik

e 2|7} 10] L,
fEx-22
® 5

) =(x=-3)0(x) +1

0(2) = -2

f(x)E x-22 UE YHAE f(2) ol
f(2)=(2-3)0(2) +1

~1x(-2)+1=3




16. 4] 2290 4 26% - x B x4 12 9l 1] B2 o(x) 2 T i,
0() 8 x- 12 LHrglS 1] voj

® -2 Q)—l ® 0 @ 1 ® 2

B

2x30 +2x28 —x=(x+1)Q(x) +R
FH x=-12 i 54,
24+24+1=R.. R=5

gl x =12 Y shH,
2+2-1=20(1)+5

L 0(1) =-1




17. A f(x), gx) oA f(x) S x? - 12 U= YA 7} 20] T g(x)

x? = 3x + 22 UiE Y7} 2x 4 101t 2f(x) + 3g(x) S x - 1
Uhe U 2] =2

@3 ©-13 016 @-16 6%

B

ku mlm

f(x)=(*-1)01(x) +2

o f(1) =2
g(x) = (x2 = 3x+2)Qa(x) + 2x + 1,
-og(l)y=3

2f(x) +
)+

3g(x) 8 x- 12 Y& UyHRE=
2£(1) + 3g(

g(1)=2-2+3-3=13




18. T f(0)E (x-1)(x-2) & e UMA7} dx + 32 1 £(2x) S
x— 12 e Y2 =2

B

Fx) = (6=1) (x=2) Q(3) + 4 +3
x=2E st f(2) =11
f(2x) 5 x - 12 Y= YA 5 Ro|2} o1H
f(20) = (x-1) 0’ (x) + R
= 1€ SIS £(2) = R

R=11




19. o] f(x) S 22 - 42 U2 9] bl 2] 7h —x 4 40]T}, ohaHA]
e+ 1)& 2 + 20 - 302 WrglE v o] ez E Fobi?

@ 2x+1 (@)—x+3 ® x-1
@ 2x ® 2x-3

~&B

flx+1)=(x*+2x-3)0(x) +ax+b
=(x+3)(x-1)Q(x) +ax+b

x=-3& WA f(-2) = -3a+b=6

x=18 NUSHA f(2) =a+b=2

La=-1,b=3

b A x + 3
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20.

33 -5x+2=a(x-12+b(x-1)2+c(x—1)+d ©°] x o o
1 W, a+b+c+d o 727

@)16 ® 20 @ 23 ® 25

O -16

3|i<—b

a+b+c+d=3+9+4+0=16




A3 +2x%2-3x+5=a(x-1)3+b(x-1)2+c(x-1) +d
. b, ¢, d ° t5to] abed ©f F27

®-10 @ 10 @5 @i © 20

a

x=1P3 +b(x-1)2+c(x-1)+d
(x=Dia(x=1)2+b(x-1)+c} +d

=x-D[x=Diax=1)+b}+c]+d
whEbA] x3 4+ 2x%2 - 3x+5 &

x-12 d%02 s 0 ot
GelA7t 2482 d, ¢, b7} E| 7 apAEre] So] g o]t

a=1, b=5,¢c=4,d=5
.. abed = 100




22,

x =
WESh= A a, b, ¢,d O] F abed 0] B2

® 5 @ 10

ax+ 12 +b(x+1)2+c(x+1)+d E

@

a(x+ 12 +b(x+1)*+c(x+1)+d

! =2 — cC

=1
1| -3

«~b

a

. abed =1 % (-3) x3x(-2) =18

Sto] HAHS

= (x+1)[(x+1){a(x+1)+b}+c]+d ¥= °]&
AH-g-std
=1 1 0 0 -1
-1 1
-1 1 -1 1 «— d




23. & ool S0l Alo] HiE2A AAEA] o>

A7

a*(b—c)+b*(c—a)+c*(a-b)
=b-c)a®=| OB la+] () Jb-o)
=[ () [t~ @) k+[ (D]
= (b-c)(a—-b) (7

@ FhH@E* - @ (W) be ® (th (b-0)
@ @) bt G (c-a

B

S

2(b-c)+b*(c—a)+c*(a-b)
(b - c)a® + b%c — ab® + c*a - bc?
= (

b-c)a®= | (> =c?) a+| be |b-c)
~[0=0){e* -G+ 5}
= (b-c)(a-b)[(a-0)]
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@a—b+c

@ b-c
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(a=b)(b-c)(c—a)
(c = b)a® - (¢* = b*)a+ bc(c - b)

a*(c=b)+b*(a-c)+c*(b-a)
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